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The difficulty is that they do all …….. of different things, and so they mean different things by the

word; planning seems to be all things to all people.

sorts definition future plant

1-

1. 2. 3. 4.

A) Fill in the Blanks: choose the best answer to fill in each blank space and mark it on your answer

sheet.

Planning is concerned with ……….. achieving some objective, and it proceeds by assembling actions

into some orderly sequence.  

deliberate deliberately deliberation deliberates

2-

1. 2. 3. 4.

We talk about planning the economy to minimize the swings of boom and slump, and reduce the

misery of ……… .

unemployable unemployment unemploy unemployed

3-

1. 2. 3. 4.

One might regret it and wish ............... a simpler age when perhaps things happened without

forethought.

inside with for without

4-

1. 2. 3. 4.

We see these things happening all too readily after natural or human ……… like earthquakes or

wars or major strikes by railway or power workers.

disasters colleges societies types

5-

1. 2. 3. 4.

These objectives may not be readily compatible and may indeed be _______. 

decided arranged contradictory contrastive

6-

1. 2. 3. 4.

There are more or less long traditions of UPM that have their roots in the movements and

mechanisms that arose to combat the problems accompanying the urbanization processes of

the .............. world in the 19th century.

industrial simple mental oriented

7-

1. 2. 3. 4.

With the development of computerization in management and planning of all kinds, there was

increasing interest in the ..................... of sophisticated control systems which would

automatically control machinery.

developmental development

developed developmentally

8-

1. 2.

3. 4.

 Most importantly, planning is meaningless ............... it is firmly linked to implementation.

about whose how unless

9-

1. 2. 3. 4.

It is a .................. idea to build a new supermarket in this crowdedarea. 

painful schematic statistical logical

10-

1. 2. 3. 4.
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affluent

new events an orderly arrangement

having new habitant having a lot of money

11-

1. 2.

3. 4.

B) CHOOSE THE BEST SYNONYM

blueprint

 

airplane production detailed plan

economic act building or a new town

12-

1. 2.

3. 4.

boom

a sudden increase modern society 

popularity of something business activity

13-

1. 2.

3. 4.

predetermined

in the neighborhood act of  achieving

arranged before in a town

14-

1. 2.

3. 4.

earthquake

 

shaking of the earth's surface a careful projection 

achieving the goal the exact physical objects

15-

1. 2.

3. 4.

evaluation

 

���� �����	
 ��	�
�� ����

16-

1. 2. 3. 4.

analogy

similarity possibility mentality feasiblelity

17-

1. 2. 3. 4.

interpretation

�	���� ����� ��	�� �����

18-

1. 2. 3. 4.

liberate

release hide remove enclose

19-

1. 2. 3. 4.

remarkable

adequate compatible noticeable attributable

20-

1. 2. 3. 4.
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trend

 

direction prediction debate argument

21-

1. 2. 3. 4.

absurd

undisputed unreasonable great discouraging

22-

1. 2. 3. 4.

articulate

say lead discriminate differentiate

23-

1. 2. 3. 4.

compatible

able to exist able to work together

able to understand able to preseve

24-

1. 2.

3. 4.

diminish

decrease enclose complete increase

25-

1. 2. 3. 4.

The difficulty is that they do all sorts of different things.
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26-

1.

2.

3.

4.

D) Choose the best translate of these sentences:

Planning often is used in the production of physical objects, such as cars or airplanes or buildings

or whole towns.

��� �	*� 	� 5	*#6	. 	� 	*�
�(� 	� 0���(�� 07� 8�4� �� �	1� ���%
 �	��	, ��9(� �� ���� �%�� )�	 ��

	� ������� )*� 	� 5	*#6	. 	� 	*�
�(� 	� 0���(�� 07� 8�4� �� �	1� �1�%�: ����9(� �� ��	; �%�� )�	 ��

��� 0, 	� 5	*#6	. 	� 	*�
�(� 	� 0���(�� 07� 8�4� �� �	1� �<���: �� ��9(� �� )#:� )#:� �%�� )�	 ��

��� 0, 	� 5	*#6	. 	� 	*�
�(� 	� 0���(�� 07� 8�4� �� �	1� �1�%�: =���� ��9(� �� 	�9	> �%�� )�	 ��

27-

1.

2.

3.

4.
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Although urban environmental issues cannot really be separated from urban planning and

management, ....
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The overall ideology underpinning these initiatives has its roots in the traditions of UPM,
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It means that the whole planning process is more clearly articulated, more logical and more

explicit.
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